Q.2(a)   Find the value of ( if  ((2  eq \x\to(i)- 4  eq \x\to(j)+4  eq \x\to(k)) is a unit vector.

(b) If   eq \x\to(a) = ( 2 , 4 , - 5),   eq \x\to(b) = ( 1 , 1 , 1 ),   eq \x\to(c) = ( 0 , 1 , 2 ) find the unit vectors parallel to 
                               eq \x\to(a)+  eq \x\to(b)+  eq \x\to(c).

(c) If   eq \x\to(r) = x  eq \x\to(i)+y  eq \x\to(j)+z  eq \x\to(k) then write the unit vector in the direction of   eq \x\to(r).

(d) Determine a unit vector parallel to the sum of the vectors (2  eq \x\to(i)+4  eq \x\to(j)-5  eq \x\to(k)) and

 (  eq \x\to(i)+2  eq \x\to(j)+3  eq \x\to(k)).

